Energy Conservation, problems 10-13 solutions

Monday, November 26,2007

9:22 PM
10. A 5-kg projectile is launched straight up with a speed of 80 m/sec.

(&) What is its initial K7

(b} How high will it go? (Ignore air resistance.)
(c) If the projectile only goes 120 meters high, what percentage of the initial energv of the projectile was "stolen

by air resistance, ending up as heat?

11. If the projectile in the previous problem is viewed from the ground, a distance of 30 meters from the launcher
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then what angle will it malce at the moment it's at its apogee?
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12. When a bow and arrow is pulled back, what kind of energy are vou giving it by way of your work?

A roller coaster car is pulled up the first (biggest) hill. 32 meters above the ground. Assuming there's no

13. ¢ 5
friction, how fast would the car be moving at the top of a loop-the-loop, 18 meters above the ground?
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